L5 BT

=T 7 Bl 1-7H [ b8 4%

I 5 B Jigt — 212
LAt Jiot — -12.7
HIR T Tt — -29.7

Tk JiJt — -19.9
HEOR G Tt — -29.4

725 LN d Tt — -13.7
FTEMIZRIN) . A 2P0 Jigt — -30.1
ENILTE 37y Tt — 224

R KA R Jigt — 69.8
gy ik JiTt — -58.0
B Jigt — -19.8
=l Jigt — -21.8

Jita T H A% A — 9.3
H#AAERIT T H A — -6.2

TR ity it T AR IRSVES 2373.94 -12.8
#EE IRSVES 1482.82 -18.5

T it D R T THI AR IR SVES 185.92 -24.4
#EE IR SVES 115.85 -33.0

TR fit D 5 B T AR IR SVES 157.04 3.4

e (DIEE B B4 4 M 225 2B A7 5007 TT A _E 100 H 858 b5 b I A58
Qi b S AU S AR (FH5) .



